(N) What happened at the chess tournament? (1/1)

N1. Valaki megvert valakit.

N2. Kit vert meg valaki?

N3. Senki nem verte meg a Petyat.
N4. Valakit senki nem vert meg.
N5. Senki nem vert meg mindenkit.
N6. Senkit nem vert meg a Petya.
N7. Ki nem vert meg senkit?

N8. Valaki senkit nem vert meg.
N9. Mindenki megvert valakit.
N10. Valaki megverte a Marcit.
N11. Senkit nem vert meg senki.
N12. Kit nem vert meg senki?
N13. Nem vertem meg senkit.

(H) Someone beat someone.

(G) Who got beaten by someone?

(F) No one beat Peter.

(M) There is someone who didn't get beaten.
(A) No one beat everyone (at e.g. chess).

(L) Peter beat no one.

(J) Who didn't beat anyone?

(K) There's someone who didn't beat anyone.
(I) Everyone beat someone.

(D) Someone beat Martin.

(C) No one got beaten.

(B) Who wasn't beaten by anyone?

(E) 1 didn't beat anyone.




